S Diamatic

The choice of professionals

Diamatic 735PRO

Service manual
Version 1.0

Service manual

Diamatic
Utrechthaven 12
NL - 3433 PN NIEUWEGEIN
Tel: 0031 (0)30 223 8630
Fax: 0031 (0)30 223 8981
Info@diamatic.eu
The Netherlands

www.diamatic.eu info@diamatic.eu



S Diamatic

The choice of professionals

Table of contents

1. Tools
2. Spare parts
3. Electric schedules

E06866 / 3x 400V / 11kW / Frequency drive
E06866/UL230 / 3x 230V / 11kW / Frequency drive

4. Fault diagnose frequency drive

03

04

24
33

42

2/47




S Diamatic

The choice of professionals

1. Tools
Diamag grinding wings
Iltem Part number Description Remarks Qty.
BG707301 Diamag wing red box 9 pieces 18/20 1
BG707302 Diamag wing red box 9 pieces 30/40 1
BG707303 Diamag wing red box 9 pieces 60/80 1
BG707304 Diamag wing red box 9 pieces 120/150 1
BG707311 Diamag wing green box 9 pieces 18/20 1
BG707312 Diamag wing green box 9 pieces 30/40 1
BG707313 Diamag wing green box 9 pieces 60/80 1
BG707314 Diamag wing green box 9 pieces 120/150 1
BG707321 Diamag wing blue box 9 pieces 18/20 1
BG707322 Diamag wing blue box 9 pieces 30/40 1
BG200995/SET | Wing PCD 1x 1 (set of 9) 1
BG200997/SET | Wing PCD split (set of 9) 1
Diamag polishing dots
Iltem Part number Description REIMETE Qty.
BG7100100 Diamag dry polishing dot black #100 (set of 9) 1
BG7100200 Diamag dry polishing dot blue #200 (set of 9) 1
BG7100400 Diamag dry polishing dot red #400 (set of 9) 1
BG7100800 Diamag dry polishing dot white #800 (set of 9) 1
BG7101800 Diamag dry polishing dot yellow #1800 (set of 9) 1
BG7103000 Diamag dry polishing dot green #3000 (set of 9) 1
BG707303 Diamag wing red box 9 pieces 60/80 1
BG707304 Diamag wing red box 9 pieces 120/150 1
BG7110050 Diamag wet polishing dot orange #50 (set of 9) 1
BG7110100 Diamag wet polishing dot black #100 (set of 9) 1
BG7110200 Diamag wet polishing dot blue #200 (set of 9) 1
BG7110400 Diamag wet polishing dot red #400 (set of 9) 1
BG7110800 Diamag wet polishing dot white #800 (set of 9) 1
BG7111800 Diamag wet polishing dot yellow #1800 (set of 9) 1
BG7113000 Diamag wet polishing dot green #3000 (set of 9) 1

3/47




S Diamatic

The choice of professionals

2. Spare parts
Frame complete

4/47



S Diamatic

The choice of professionals

Part number Description Remarks Qty.
1 BE0643 Tube cap round 2
2 BGO005845/RD Handle for steer 1
3 999-9156 Pipe clamp (set) 2
4 BE0191 M6x50 hexagon socket head bolt DIN 912 4
5 E06861 Operating box complete 1

E01543 Emergency stop

E01318 Start button

E01351/1 Potentio meter (speed switch)

E01323 Left / right switch

E05130 Make contact (green)

E05131 Brake contact (red)
6 BE0641 M10 clamp lever 1
7 BG005835 Steer handle 1
8 BE0640 M12 hexagon shoulder screw 1
9 BG11751-1 Handle locking pin 1
10 E06860 Clamping pin steer 1
11 BG11758 Cord for deadman switch 1
12 BG11759 Key for deadman switch 1
13 BG11760 Deadman switch 1
14 E07008 Chain (11links) 1
15 BE0653 Hook 2
16 E06883 Swing arm for dusthose 1
17 478198 Quick release pin 1
18 BG005338 Cover plate electro box 1
19 BG11917 Electrobox 15kW complete 1

BG11917/UL230 Electrobox 15kW complete 230UL 1

| 20 E05135 Electrical inlet 3x400V 32A 1

E05134 Electrical inlet 3x230V 63A 1
21 E06904 Wheel bolt long 2
22 BG11850-1/1 Wheel spacers 4
23 BG11850-1 Wheel 2
24 BEO036 M12x40 hexagon bolt 2
25 BG005825 Frame 1
26 E06286 Water coupling 1
27 E06285 Waterhose connection 1
28 E06282 Ball valve mini 1
29 E06279 Water reducing coupling 1
30 E01492 Megi bush 2
31 BG11752 Hinge bolt 2

E06892_RD 735PRO logo red 2

E06820 Diamatic logo 4

5/47




6/47



S Diamatic

The choice of professionals

Part number

Description

REINEITSES

Qty.

35 BG005847 Protection cap 1
36 BG11924 Upper belt 1
37 BG11960-1 Motor 400V/690V 1
38 BEO654 M8x16 set screw DIN 916 4
39 BG007808 2 Coupling upper part 1
40 BE0656 M14x140 hexagon socket head bolt DIN 912 3
41 BG007810 Flange motor seat 1
42 BG007811 Motor seat 1
43 BG005844 Coupling plastic star 1
44 BG11829 V-seal 1
45 BE0635 M8x110 hexagon socket head bolt DIN 912 6
46 BG007808 1 Coupling under part 1
47 BE0188 M6x25 hexagon socket head bolt DIN 912 1
48 BG007339 Protection cover 1
49 BE0655 M6x12 hexagon shoulder screw 4
50 E06281 Water T-coupling 1
51 E06278 Waterhose 1,5m
52 E06276 Pipe clamp 2
53 E06897 Slide strip 2,5m
54 E06293 Nut for knee coupling 2
55 E06280 Water knee coupling 2
56 E04551 Plastic cap 1
57 BG007349 Brush for floating shroud 1
58 BG007355 Floating shroud 1
59

7/47




S Diamatic

The choice of professionals

Upper drive

8/47



S Diamatic

The choice of professionals

Item Part number Description Remarks Qty.
60 BE0631 M8x40 hexagon socket head bolt DIN 7984 4
61 BG005856 Contra pulley 1
62 BE0648 Key 8x7x18 DIN 6885A 1
63 BG005805-1 Pulley 1
64 E01560 Taperlock 1
65 BE0443 M10x25 hexagon socket head bolt

66 BG005860 Upper tensioner 1
67 BG005813 Holder 2
68 BG005809 Motorplate complete 1
69 BG005857 Centre pulley 1
70 BG11904 Middle belt 1
71 BG005834 Lower plate upper drive 1
72 BG005807 Ring 1
73 BG007804 Flange 1
74 BE0350 M6x10 hexagon head screw 8

9/47




S Diamatic

The choice of professionals

Lower drive

10/47




S Diamatic

The choice of professionals

Part number Description Remarks

75 BG005814 Ring 1
76 BG11849 V-seal 1
77 BE0617 M6x50 countersunk screw DIN 7991 2
78 BE0051 M6x25 hexagon head bolt DIN 933 18
79 BG005827 Cover 4
80 BE0030 M8x25 hexagon head bolt DIN 933 4
81 BG007322 Housing complete 1
82 BG005832-1 Holder 1
83 BE0090 M8x40 hexagon head bolt DIN 933 1
84 BG005858 Drive pulley 1
85 BG005859 Pulley 3
86 BG11940 Lower belt 1
87 BG005861 Lower tensioner 1
88 BG007324 Lower plate 735PRO 1
89 BE0035 M6x16 hexagon socket head bolt DIN 912 18
90 BE0188 M6x25 hexagon socket head bolt DIN 912 24
91 BG007850 Inspection cover 2
92 BE0082 M8x12 hexagon socket head bolt DIN 912 6
93 BG0005826 Ring 3
94 BG11797 V-seal 3
95

96

97

98

11/47




S Diamatic

The choice of professionals

Contra pulley BGO0O5856

o

i

o3
103

104
o9

Part number Description Remarks
100 BG005803 Belt pulley 1
101 BE0109 Key 8x7x20 DIN 6885A 1
102 BEO0O76 Retaining ring for shaft @25 DIN 471 1
103 BG005802 Bearing house 1
104 BEOO77 Retaining ring for bore @52 DIN 472 4
105 222-2331-E Bearing 2
106 BG005801 Axle 1

12/47




S Diamatic

The choice of professionals

Centre pulley BGO05857

Item Part number Description Remarks

108 BG005812 Sprocket 1
109 E03703 V-seal 1
110 BG005806 Pulley 1
111 E01490 Bearing 1
112 E03993 Retaining ring for bore @90 DIN 472 1
113 BE0126 Retaining ring for shaft @50 DIN 471 1

13/47




S Diamatic

The choice of professionals

Drive pulley BGO0O5858

14/47




S Diamatic

The choice of professionals

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
115 B20404 Bearing 2
116 BG005815 Bearing house 1
117 BE0256 Key 8x7x30 DIN 6885A 1
118 BG005818 Axle 1
119 BE0269 Key 10x8x32 DIN 6885A 1
120 E00718 Taperlock 1
121 BG005820 Pulley 1
122 E00951 Retaining ring for bore @62 DIN 472 4
123 BG005821 Bearing house 1
124 B21631 Retaining ring for shaft @30 DIN 471 2
125

126

15/47




S Diamatic

The choice of professionals

Pulley (3x) BGO05859

16/47




S Diamatic

The choice of professionals

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
127 B21631 Retaining ring for shaft @30 DIN 471 3
128 RB100A3-350 Taperlock 1
129 RB165-2 Pulley 1
130 BG11817 Bearing 2
131 BG005816 Axle 1
132 E00951 Retaining ring for bore @62 DIN 472 4
133 BG005817 Bearing house 1
134 BE0256 Key 8x7x30 DIN 6885A 1
135

17/47



S Diamatic

The choice of professionals

Upper tensioner BGO0O5860

ltem ‘ Part number ‘ Description Remarks ‘ Qty.
136 BE0074 Retaining ring for shaft @20 DIN 471 1
137 222-2245 Bearing 2
138 BG005830 Axle for tensioner 1
139 BG005831 Tension plate 1
140 BE0130 M10x25 countersunk screw DIN 7991 1
141

142

18/47




S Diamatic

The choice of professionals

Lower tensioner BGO05861

Iltem Part number Description Remarks Qty. ‘
143 BEO0O70 Retaining ring for shaft @15 DIN 471 2
144 BG11792 Bearing 2
145 BE0618 Retaining ring for bore @35 DIN 472 4
146 BG005836 Pulley 1
147 BG005837 Axle tensioner 1
148 BE0458 M8x25 countersunk screw DIN 7991 2
149 BG005833 Tensioner 1

19/47




S Diamatic

The choice of professionals

Buffer plate for surface preparation (3x)

20/47



S Diamatic

The choice of professionals

Iltem Part number Description Remarks Qty.
123 BG240190-1 240mm diamond holder complete 1
128 BG2401901-1 240mm diamond holder 1
150 BG11880 Fork 1
151 M8x25 hexagon socket head bolt small | DIN 7984

BE0204 + BEOS84 + M8 spring washer small DIN 7980 3
152 BG11879 Buffer disc 1
153 BG11878 Buffer hard 4
154 BE0082 M8x12 hexagon socket head bolt DIN 912 8
155 BG11877 Magnet plate holder 240mm 1
156 BG11876-1 Magnet plate 240mm 1
157 BE0456 M8x16 countersunk screw DIN 7991 3
158 BG11811 Centering star 3
159 BG11810 M6x10 countersunk screw DIN 7991 6
160 E06446 Magnet 3
161 BE0608 Retaining ring for bore @58 DIN 472 1
162 BE0030 M8x25 hexagon head bolt DIN 933 1
163 BE0314 M8x30x1,5 washer 2
164- .
169 BG300117 240mm cutter housing complete 1
164 BG300501-1 185mm cutter housing 1
é25+1 BG300133 Locking pin & screw 6
167 BG300130 Axle 3
168 BG300109 Cutter 12
169 MPL48 Washer 15

| 170 EQ07240 DIAMAG 240mm adapter plate 1

BG200993-1 Plate for wings 240mm 1

BG200988-1 Dry polish dot holder 240mm 1
171 DIAMAG grinding wings 3
172 E06447 DIAMAG adapter plate for dots 3
173 Dry polish dots 3

21/47




S Diamatic

The choice of professionals

Buffer plate for polishing (3x%)

22/47



S Diamatic

The choice of professionals

Part number

Description

REIMEIES

175 BE0579 7/16 x 2"/ hexagon UNC bolt 4
176 BG2402001 Flexplate adapter for axle 1
177 BE0012 M8x25 hexagon socket head bolt DIN 912 3
178 BG400310 Morflex coupling 1
179- .
182 BG2402002-1 Flexplate diamond holder 1
179 BG24020021-1 Flexplate diamond holder only 1
180 E06446 Magnet 3
181 BG11811 Centering star 3
182 BG11810 M6x10 countersunk screw 6
183 BE0456 M8x16 countersunk screw DIN 7991 3
184 E07240 DIAMAG 240mm adapter plate 1
BG200993-1 Plate for wings 240mm 1
BG200988-1 Dry polish dot holder 240mm 1
185 DIAMAG grinding wings 3
186 E06447 DIAMAG adapter plate for dots 3
187 Dry polish dots 3

23/47




S Diamatic

The choice of professionals

3. Electric schedules
E06866 / 3x 400V / 11kW / frequency drive

1B3A -
Jaquinu aAIpIY -
13qUINU UOISIASY - j
H#H' #H##H#H#(d
d39WNN SNIMYYEA

Jaquinu Buluuny - |4
IT 1t

3000 340D

abed anpayas -

Ism3| |oquAS -
Jaquinu Buiuumy - J

1411
3d0D 109WAS

SUYM -
SUYM -
SUYM -

u2215) /MO||2A -
el -
e -
elg -
31010

(2aArz) punog / snuljy
auim dn-yooH

(oankz) snid

sbejjop jo3uo)

3d [ ywes
€1

4

11

ESER

NODE SDEIOA UlEy

d0102 FdIM

24/47



The choice of professionals

S Diamatic

mapoflies

Buysyzz 1w wapBl

wapybl

pumIsizam 2ipqE62

dapy spusipag s

IeeEEyssBu Spsraqimow

Bijod-£ e=woanesas; =)

Bijod-7 3eRwoanezas =isu

Byod-1 aeewmnesaeyesy;

JES{ERRLEpIcoy

JAestep, APy

EPPS BRqRYEYS

pyBparaus

Byp=y

asNny UM [BUILLE L
JeuLuEL

1PEIL0D S|QEAOLL LM 10ISISSY

£

WISIUBLISLL LIS LM
LIHMS PEOLISAD 030
JENERIQ MDA JaMod

ajod-sauL “JeyEalg unoaD

alod-omg “IEnERIq UNDID

sjod-a|buis “sexeaig unoaD

LPUMS UIgl

ajod-83.L3 “PBULCISIP pasndy

ajod-aauly ‘Yoyms pasng

a8y Aajes

Aok
4%

L1L

JRPLLICISURIALID0S

SOOPIIEVICOPUEM

Buiemzn
pussam

SuzapEn L

s ppods

Bubenmnen

1w Bods

BuBemuLoydo
38w Bods

jsods

soMEuLBgUED

3{juaIn

smELRIEdLe

wiooy

dusseeubys

JaloisuR] JUALINg

05

Bunesay / Joisisay

by agny

‘lo3 asind Aejaa
102 &sjnd JopEguo)

AeRp Ino-deap yum
‘103 AgjaduopEucy

Aeep dn-yaid yum
‘02 ABjal JopEuey

o3 Aejaa

JioD J61IEILCD

Jauojsueny

Jaune
JnoyBuiuun

JEBwrwide

wioy

Wby jeubis

eeyELESEULpRY

JEE[E{ELISpUIE

IsEE{EIsYD

1==s0iBAy
pLUCLTET

anehlus aisgeeip
22w dogspool

IEEE{ELSIEEID

IeeyeysiEeip da

]
douprip

puzsanBrE
Soupsnip

pusynjs pheeissn
PEIUOTERIE

usdo pbeensan
pEuCIERIgEn

puzinjs pheRnEa
pEjuomER

uado phesyEa
“PeJUaINERL

wewossusbowsn

pewodyny

Uoums Ajiuixold

Uams

L23MS aunssaud

Y20IMS D)3EISOWIBLL

nojun Aueod
n_oum »wcmm_m__.:m

Bupyoo)
yoms Alejoy

punogal
ypms Arejoy

Buryo)
uoneqysnd

punogsl
uayaqusng

AepEp swi ym sasop
oEJUCD JN

Aefap awi yam suado
“12E3UQD JN

Aejap alun Lpim sasop
PEu0s ON

Aepap swiy yym suado
“PEod ON

12EIU0D I8mMod

e Aleljixne

=

i
-

25/47



The choice of professionals

S Diamatic

7,

ot

uonINPay/9Ti <= 0ZI
+ vd/9Thi

!

Wd/9Th
¥

1511

e

TSNIT
HES TSTT

&
&
Q
] ons|©

Yd/0Zh

|

“uuo

pliE!
'dG VEE o I
wued-330 oo oo sseig/zel
T 7
T 7
|
) uU_._.—n_B
ol apisyzeq Ul
W ]| ewaen puiig xp
JeALyy  —
Az|dsig | S—

sseigfozhi {

26/47



S Diamatic

The choice of professionals

HOLIMS

NYWav3ad 310W3Y
Usng pus alip 7 7 Usng pus 2
=—— 7 i DAd WWTXE ee————r=
_ .’ |
) | (3 I 551
WLgos = 1ybus| 2ol
13NISYD 3103y

ysng pus a1

/
/7 3d1-Ing Wi/ 0%91
/7

Usng pus s

—_—

0T

[ 1

[n

(e i) =34
pue(b 3|qe2 D 34 Ul
PRD=UU0D 3q 0L 5] PUB PRRROS = &

W MO

WWQSTT = Wbus| |20l

{wwgpT 32 Bumnd Ajus) pRiys yoe3oud oy
2DIS UDIEISULICD J0)0LU U0 UDIJE[NSUl SAES] AlSASD Jod

/ / I
\ \ -ADISAZ WilpXp
/7 OO

Bex 3
=[R2 E
h= (=) 2
N = (umoig) T
oy MoTE),
ey 3jqea wiog
ipuab=]
13INI9YD
SEL
051

i1 oot

LWOOZT = Wbus| [el0L

27/47



wds 54T

IPAFT ZHOS YZT ADDE ZHOS WIE MDD
abeon jonuos AHTT 40900 Ajddns aamod
s 5kT
Ty
H‘nmm_..?.u..___?
. ~E 05 MO0 95
e o — TWOT WIE 1% 333
T ok (5 ANy |
b 1 EE I
IIIIIII s
rad_Jd_4-4d -

s
s
Fo
pat

ALY
=N
WET ‘MATT
1L &y
it

T |not

o]
07

Ay awany

The choice of professionals

S Diamatic

28/47




The choice of professionals

S Diamatic

—®*D0ADfE

LIEIS 030} deoys Asuabswg
et el |
£ I ke L T TZESIN-54
508 I oy |um
201X F o IX
+T wEg = [ o]
¥--31511 £ -l TSNTT
£ 17 1] w
SeTX
dojs-pa
¥ z| [P FEUA,
YO g-AOTsNTT
€| T
o7 AL
LEah SNA-L £ e TX
Epagie allore )

wDOOAFT 0

29/47



The choice of professionals

S Diamatic

Guuni

=a paads e} Mo
000 A0R0]8) 2330
2040 ®OOND (6T
z]
N
W THET
T
2
TEALY
ek
3 T+ o1+ +IIv -7 Wi o
w Aw ¢ 0 7 i A_Ovo not
g Ty o1gTX
— L I R P
3 TdZT |/.w;_?m 1521
™
L IX
THCT =pisyzeg
wHMAALY e T
K 0T/ ALY (8T
11/ex
un.#n W=D0NFT 16T

30/47



The choice of professionals

S Diamatic

o+ ot (43 o> THIT -
+TIV ot 1 [ THIT =
R ot ' n T THIT paats 10
mn ot ' & z MO JowR
m ot T ¥ TSTT =
b TaTInIt L o 1sz1 WD 30
TA it @ +1 IS1T -
[ it 5 2] 15T s
[ it ' v [ TSNTT =
T34 N THITTADT ' £ £ ISNIT =
v it B 1 TSNTT =
AT THETTAOT T T ISNIT dags Kby
34 not 3d
uwno [ sbey uoneudsap Bkl uopeufsap 1eiie | ] U0y
g5 T |5 o
. u o 2
W TE 2 m TE M
= =8 s 5 |E8 3
n = At =1
Yo ] 3
g DPAFZ [BUILLID ] v
2 2
2 IX 2
3 dins 8

welbelp |euiwa |

31/47



The choice of professionals

S Diamatic

[ T MLIAVE Q1IN 57 N0z #1°d P T T
D000TSEIST 57 N0Z 013 TG [RURE A0 T I i
0000HIG0SE 157347 @ PG [RUILLS) 34 30 T 1 X
0000000555 5% MIZ FPRq Pl H ]

AT P A5 TIST-05T FIENE Buy uey T Wzt
"R 15 9EE-TZT Fy uRy T TWIT
ST ZE- 00+ N FIEE MV 2] T TWET
TI50V 562 TI50 S92 k] T Tzt

HAZ N0 ERed PEC AL PR 0T T I
Tk TITTI NaZ Tk ON s T 1521

T N TZTT1 M2 T oW T 1521

Zaw 5B 70w S92 SIRURY S 1 15T

T N TITT NaZ TR ON T 1511
ZEZ0I0E0 CECWY 582 LHV LS, N3350 vomnaieng T 51

T N TZ111 NIZ T DN LR T TSI

FHESW SEL Y SAL ] T TSIT

TIZ-50K + ZRod-S0K TIZ-50K + T6Wa-50X Uld + G2 KRS T =T
1TSS TZT5T-5d¥ ABjas doys iousbist 1 Tt
QEBETSIHEY DEDETSEHE AV VE AFZIO0 MG Janed T ThOT
SIS SILH TS WETTT S oI njsiRL T Ta0T

P TT0H LAY SN TTOH TLALY WRLT RO Aty T not
[ 3 055152 R e L G T e PR T THOT

00 T 0 WK FUST ¢ 03 ST0LSE0CTYE reeped T s

MW3IW ST0S Nel 57505 il PRIRI-FOOR 5152 PURE SI070 T 24
104 STE s 10 S22 05 T PPN § T 252W 0 H Y
SE0CWd STT 08 ST AT S TLOTW e T 54
WASTHITH S T4 ST <-0TH ¥id UIRnF=Y S TaGTH <- 0ZW H9Rnpsy T 24

SE0ENd 91908 FE I ERET ) 5T+ 5T PURE =50 H 54
SE0EWd 02T 08 OTH AT S T+0TH INRe T 24
SEOf¥d 02905 ST+ 02K ¥d TALIVM 5T+ (TW PUEED 2570 T 24
WOTL 08 0T H30WTEL TSR § 1202 p o] T 54

W 0T s ST 001 LA PRIRH-FAE ST 02W PURE 3590 T X

PRES 3 STAEW 28404 [ e e e e TR P pUlg 1 TR
[T LS FTEE USEXDSE 19K BUunou YE (5T BF*I0S Snopus Fe1S T TR

Jsquinu ved

Aagquunu 2dA]

uoieufsap

fanuenty

Bey aoimap

35| sMed

32/47



The choice of professionals

S Diamatic

E06866/UL230 / 3x 230V / 11kW / frequency drive

13 -
Jaquunu ALY -
J12quInu UOISIASY - ‘4
#R AHARFE #H(
d39WNN ONIMYYEA

Jaquinu Buiuuny - |_
IT11

3d00 340D

abed ajnpayas -

Jem3| joquAsg -
Jaquinu Buiuumy - J

IT411
3d0D TOdINAS

SUYM - (DAAEFT) punolg [ snuipy
SUYM - auim dn-ooH

SUYM - (Danke) snid

abeyjop jouo)

US2U/MO||BA - 3d / yues
yoelg - €l
yoelg - 1
el - 13
SI0[0, EE=

A0OET 2beyjop uiepy

OMY BULIM Y 500D JHIM

33/47



The choice of professionals

S Diamatic

eyl

Bupsmgar Jaus wagi Bl

B

pusysEam aeqEla

dapg FPURPRT LR

JemEEyes bR asq o

Bpd-£ WRUCINRSRRIE!

Eiyod-7 wucneane||EE

Band-T FERWCINRANE|RESU)

e

ARG, SpRys

SIS AIRERLYS

FayfRaEus

Aaynaey

8Ny Yy [euluia]

[EEEET

P=U0D BGRADLU LM I0ISISTY

anen

LUSILELIRU LDJMS LM
UBIMS DROUSAG I0J0W
JEesiq YN JBMOd

Spod-320u UsERIg JnauD

2{od-oMy “IEERIq AN

2jod-3jbuis iEaq 1nouD

PUMS U

ajod-s2uL “PEuucosIp pasnd

sjod-a3. "ymims pasny

By Agages

SBULC R IRICIS

SOOPREUOPURN

BurEmS,
puREIaM

Buppgan 1L

sind pods

Bufiensa sy
T s

Budegaucydo
Jauw padg

FTRAIRFURY

Fsneny

smwaRdus

dugyERubls

Jslusisuen JuBLIng

1pos

Bugesy [ Joysay

61 2anL

oo 2s|nd Agjau
Jio3 25|nd J0DEILaD

AzjEp ano-doip ym
o3 AefRuiopEiLeD

Aepp dn-yd yum
“Jioa Apjuiopeiucn

oo Az

JloD IGDEILD)

JBULIOYSURL

JEqunos
AnayBuurs

JEEwnde

oy

Wby [eubis

IeREpsELApeL

]

IREEELATE

]
RO

aneliin, amqRRIp
P coEpool

IRREERYISRTID

IBBjEERys R Ty

paaaing
dourggrup

pussantinizy
doenggrup

U pheegan
“PEnaEAR

umco pheegas
RSt P

puaurs pheenas
PELOT R

uado pheegian
“PELOTReW

prposuEtoua,

Pucadinyg

yapms Kpwipoig

LRRMS Yr]

Yoms 2nss3ig

LPHMS JREISOULIEY L

¥20un Alejod
dioys Asusbuag

Gupgao]
Youms Aoy

punogeu
yams Aoy

Bupo|
uopoqysng

punoga.
uopeqysng

AefBp Swg Yy S350
“PEuoI ON

AREP 2N ypm susdo
1223002 DN

Aeep swg yam sasop
“PEIED ON

AppEp awn ypm susdo
“pewod oN

JIEILOD FBM0Z

Pequod Alepme

o T T

34/47



The choice of professionals

S Diamatic

ot

1001

Intt

AT

a1e|d Bununoyy

UORINPEY [FTIN<=0ZW
+ /ST

%1 ]
/3T = | &
na | @
ZSNTT
_M_ wsiszr | O
1SNIT @
L
vd/0TH

NOET
ELU.TNNU
o
nEz fo o
WEWEY | o o
W0y-337

TH0T

<

TOOT

IEA
E&g iq

s=IE 071N

35/47



The choice of professionals

S Diamatic

HILIWS

N7Wdv¥3d ENleUEL
SIHNLRY 204 / i S3|N.LIZY A
==—— / / N LT = ==
| A |
59 T 042 o 591
wilggs = ybusy oL
13NIEVD AL0WTE

SIS UM

\ \ 3] -INg FLUWS OXeT

]
e
[

E=TUT=TRENTY

S

a0z

054

00z

(MmajRAfusRID) 3d

puelb 2ged JW3 Sy W
PEDSUIOD 3 Of 51 PUE PIRIIS = ¢
Sl BEy uﬁe ak3
W = [ham) £
Th=(eg)z
= (umoug) T

gl Bey 3|20 243
ipusden

wwipsTT = ybus) el

{LwpgT 32 Bugno Ajuo) piege pewad oy
S0MS LIONDSULIDD J0J0LW UD UOIJENSUL SAES] ABAEE 104

\ \ [-ADNSAZ UAOTXE

3d pue £ 'z 'T 0U
Bey 21q22 uo deusm-yuLys

056

M= :m._w_ﬁ £
Th = Bpeg) 2
1M = (Uacig) T
g Bey 2gen 243
5 -pu=bs]
HOLOW
oot

WIWQOZT = y6us| (el

36/47



The choice of professionals

S Diamatic

[l
n

2PMFT
abeyjon jogquody

o o
J0A0 2QAFT
F ! h
-
:
A AT
=
™| ot
H K
-

ELI L n
SrTror-o ™
M- 4-4-4 -
|
1
1
1
1
[
Jree |
R e ~
r S [ R -
ﬁw
da3d
o o O O
34 e od 1
a 71 n
o o o
sz

WiE=Ul

ZHOS FBNDETXE

NATT 930

ALY
JEARDY
AOETIE
AT
it
TNoT

2409 JBADETXE
wigy-330 Addng

R N NN

i

e

&5/ vEg
x0T

o5 /g
THOT

37/47



The choice of professionals

S Diamatic

0T DOAD T e D0AD 0T
I i
£ 1 7 1 T TSRS
58 ¥ o8 3 oy |
AT b 9 IX
+ s al [l dns4a
Y--31511 -8 -- el TSNTT
I 1] T
L1-RY ¢ doT5-3
E 4 P T,
Y0 p-OTSNTT
| T
oI HMAA L Y- o
i
ozt { HA L. T £ TRIx
i
0T 0T TR = =D0NT e
L ™

38/47




The choice of professionals

S Diamatic

Euuuns

e
QA0 T T 20N e
i e
T
T W
W THWZT
T
&
iy
T
3 e+ O VIV I W 4 I T
ﬂ Aw 3 k-3 s ¢ & mo hm_ A
4 :_ e Ty le apIx
ki i i
= R I A NN_ 1 Moy
el L |||||||| ofe-d 1571
2 ﬁN_ £t
|
L -
L9 TX
THET Spisfaeg
T W MAALY (67T
fZX oT/Tx -
z1 = ALY 5T
T1/EX e
AT o T OONT 6T
™ e

39/47




The choice of professionals

S Diamatic

o+ ot ’ (4 o> THTT
+1v ot ] 11 £ T
T ot ' [ 1% THE1
mn ot & £
m ot T b1 1521
AT T [ [ 1521
1A it S +1 1511
A T ! 5 £1 1511
o it ' [ [ TSNTT
T34 TWZTTADT 5 5 TINTT
™ it [ (4 TSHTT
LT THITTADT T T TSNTT
uwn | abey uoneubsap whiey uoeufsap 1eiie) ] UoRoung
c c
HEE g | E|fe :
2| £z S| 5|8 3
3|3 18 3
y IPAPT SleuLLS | 2
z 2
2 X :
8 ding S

wedlbelp |euiwa |

40/47



S Diamatic

The choice of professionals

BT 15 TIGT-06T pIRne saBuy uey 1 TWZT
YR 354 9EE-TZE Al URy T THEZT
JONFE ZE 06408 N F1EG MV 2] T THEZT
160V SET TT60W 597 SRR 1 THzT

FEZ WL FEERRLn FEZ H0T BREELRg HOT ey I p5-143
TIETThaE LTI NIZ TV ON iU T IsT1

TZIM NSE LIITINIZ TV DN USRS T IsT1

TV SEZ IOV 582 FPURY LUMS 1 IsT1

TIETThaE LITTINIZ e T 51T
LETOTORD L0y 582 wLHVLS. NIZHD UoRaqusny 1 51T
TZITINSE IZITINIZ TV DN RIRUSHR T TSHIT

PEESY 582 sy S92 aoys Auabuau] T TSHIT

TTZ-50K + TEOVE-S0K TIZ-50K + THINE-50X uld + s Gages T TIT
TZTSN-5EN TTTS0v-SaX D T Tt
OEThISAEIIEY TGRS GEE Y R i e R T TADT
SULHTAD 9L TS VIR SRR 0N SRR T T40T

XEW TI0H TZAW AT KEW T10H ALY NEZAE WAL E PIEAues Fomanbaiy T 0T
EOGVEND TAL SIPUE HH0IND e + 2P T To0T

909-E08 THEL n Bureds sbue) i 00T

S9d-ERD THEL E W50 S 3D ok T T00T

STSESY av 2541 H5 S UAG)TI0 WiD T THT

575650 AW 2561 Y6 TR0 TN 1R 40330 WEd T AT

+O0 T £00 X SUGTEN & 0] 91 0/SE0LTVE Sreore T s

HMWEIN ST905 N S5 Tl PERI-FIE § T252H PURE S0 T B
LOdiW STZ0S 10die STZ05 24 PRIRN-FORI § T ST IR 1 2d
WaSTWOTH ST+9TW<-0TH ¥d uorpnp=y ST+9TH <- 0TH Yonanpsy 1 2d

SEOCYd 91T05 ST HI0WNALHW 5§ T+5TW Imnpon 1 2d
SEOCYd 91905 ST+9TH ¥d TR0V SE#STI PUSED 3GRT Z 2d
SEOCYd OTT0S 0T J30WNELHW § T+ 0TW Inpe] 14 Od
SEOCYd 02305 5T+ 00 ¥d T2V S E+0TW PUSED HGRD 1 Od
WOIT0s 0T J30WNALHW PRIRNE-FORR § T4 0TI IR 1 Od

TN 0T305 5 T+ 0Z01 T2LHVMN PRIRI-FOM 5 L+ 0TW PURE 3070 1 Od

LOdW TEC 05 10diW TE05 T PRIRI-RORN 5§ T ZEW IR0 4 Od
MW TE0S NelW 05 Sirid FIEH-FIP 5 T TEW PUSID S50 T 9d
OIS0 SYH OEGE050 SV SIS SIE BUuno G, (0500 <005 =rescra] T FTm)

Jsquunu wed

Jaguinu 244

uoijeufEap

hanuenty

fey zrap

151 SHed

41/47



S Diamatic

The choice of professionals

4. Fault diagnose frequency drive

For a complete overview of faults and how to resolve them, check the operating manual
of the frequency drive or the CD, which are delivered with the machine.

If you put the CD in the computer, it will automatically go to the manuals.

Does the inverter shows an “INF” fault, reset the machine.
If the machine does not work after that, call you distributor.

To reset the machine, put out the power supply and wait 5 minutes.
Then start up the machine again. Call a technician if the machine still not works.

I Fault Mame Probable cause Remedy
A I2F |[Al2 input] = Mon-conforming signal on analog = Chack the wiring of analog input A12 and the value of the
input Al2 signal
AnaF [Load slipping] » The encoder speed feedback does = Check the motor, gain and stability parameters
not mateh the refersnce = Add a braking resistor
» Check the size of the moterfdrivelload
= Check the encoder's mechanical coupling and its wiring
LOF [DER owverload] = The braking resistor is under = Check the size of the resistor and wait for it to cool down
excessive stress » Check the [DB Resistor Power] (brP ) and [DE Resistor valus]
(brl} parameters, page 271
b~ F |[Brake feedhback] = The brake feedback contact does = Check the feadback circuit and the brake logic contral circud]
not match the brake logic control = Check the mechanical state of the brake
L U F  |[DB wunit sh. Circuit] |= Shor-cireuit output from braking unit = Check the wiring of the braking unit and the resistor
= Check the braking resistior
L~ F { |[Prechargs] = Lead relay control fault or charging = Switch the drive off and then back on again
resistor damaged = Check the internal connections
- F 2 |[Thyr soft charge] [+ DG bus charging fault (thyristors) * Inspectirepair the drive
ECF |[Encodercoupling] |- Break in encoder's mechanical coupling |- Check the encoder's mechanical coupling
EEF { |[Conirol Eeprom] » Intermal memary fault, control card = Check the environment (electromagnetic compatibility)
= Turn off, reset, return to factory settings
EEF 2 |[Power Eeprom] = Intermal memaory fault, power card » Inspectirepair the drive
EnF [|[Encoder] » Encoder feedback fault = Check [Mumber of pulses] (F 1) and [Encoder type] (EnZ),
page Lo
= Check that the enceder's mechanical and electrical
aperation, its power supply and connections are all correct
= If necessary, reverse the direction of rotation of the motor
{[Cutput Ph rotation] (PHr) parameter, page 25) or the
ancoder signals
ECE ¢ |[Cut contact. stuck] |= The output contacior remains closed |- Check the contactar and its wiring
although the cpening conditions have |= Check the feedback circuit
been met

42/47




S Diamatic

The choice of professionals

Fault Name Probahble cause Remedy
HdF [IGBT = Short-circuit er grounding at the drive | = Chack the cables connecting the drive o the motor,
desaturation] output and the insulation of the motor
= Perform the diagnostic tests via the
[1.10 DIAGNOSTICS] menu
ILF [internal com. link] |+ Semmunication fault between option |- Check the environment (electromagnetic compatibility)
card and drive = Check the connections
= Check that no more than 2 option cards (max. permitied)
have been installed on the drive
» Replace the option card
= Inspect/repair the drive
IaF | |[Rating error] = The powser card is different from the  |» Check the reference of the power card
card stored
In F 2 [[Incompatible PB] = The power card is incompatible with the = Check the reference of the power card and its compatibility
conirel card
I~ F 3 |[Internal senal link] [« Communication fault between the » Check the internal connections
internal cards » Inspectrepair the drive
iaE Y |[Internal MFG area] |- Internal data inconsistent » Recalibrate the drive (performed by Schneider Electric
Product Support)
I nF 5 |[Internal-option] = The option installed in the drive is not » Check the reference and compatikility of the option
recognized
!aF 7 | [Internal-hard init] |« Intialzation of the drive is incomplete = Turn off and resst
' a F 8 [[Internal-ctr supply] [+ The control powsr supply is incomect = Check the control power supply
I~ E 9 |[Internal- | measure] [« The current measurements are incomrect [+ Replace the current sensors or the power card
= Inspectirepair the drive
!aF A |[Intermal-mains = The input stage is not operating = Perform the diagnostic tests via the
circuit] carrectly [1.10 DIAGHNOSTICE] menu
= Inspectirepair the drive
!aF L | [Internal- th. = The drive temperature sensoris not |- Replace the temperature sensor
sensor] operating correctly = Inspactrepair the drive
InFC |[internal-time = Fault on the electronic ime = Inspect/repair the drive
meas.] measurement component
{naFE |[internal- CPU | = Intermal microprocessor fault » Turn off and reset. Inspectirepair the drive
oCF [Owercurrent] = Parameters in the [SETTINGS] (5Et-) |» Check the parameaters
and [1.4 MOTOR CONTROL] (drC- » Check the size of the motorfdrivelload
menus are not correct » Check the state of the mechanism
= Inertia or load too high
= Mechanical locking
P~ F |[Fowerremoval] = Fault with the drive's "Power removal « Inspectirepair the drive
safety function
g g ¢ |[Molorshort circuit] (- Shori-circuit or grounding at the » Check the cables connecting the drive to the maotor,
— T drive output and the insulation of the motor
SLF ¢ |[mpedant sh. circui] + Perform the diagnostic tests via the
[ F 3 |[Ground shor circui] [1.10 D|F‘\.Gr'\o-\'._'_lT|.:E]:I'I'IE"IU
+ Significant earth leakage current * Reduce the switching fraquency
at the drive output if several motors = Connect chokes in series with the motor
are connecied in parallel
soF |[Cverspeed] = Instability or driving load too high = Check the motwor, gain and stability parameters
= Add a braking resistor
= Check the size of the motor’drivelload
5P E |[Speed fdback loss] |« Encoder feedback signal missing = Check the wiring between the encodear and the drive
= Check the encoder
L aF |[Auto-tuning ] = Special motor or motor whose power » Check that the motoridrive are compatible
is not suitable for the drive
= Motor not connected to the drive = Check that the motor is present during aute-uning
= If am cutput contactar is being used, close it during
auto-tuning

43/47




S Diamatic

The choice of professionals

I Fault Name Probable cause Remedy
RFF [Applhcation fault] = Controller Inside card faul = Please refer to the card documentation
LLF [Brake control] = Brake release current not reached = Check the drive/motor connection
= Check the mower windings
= Check the [Braks release | FW] (120 and
[Brake release | Rev] (Ird) settings, page 142,
+ Brake engage frequency threshald = Apply the recommendsad setlings for
[Brake engage freq] (BEn) only [Brake engage freq] (bEn]
regulated when brake logic control
is assigned
CnF [Com. network] = Communication fault on = Check the environment (electromagnatic compatibility)
communication card = Check the wiring
= Check the time-out
= Replace the option card
» Inspectrepair the drive
caOF [CAM com.] = Interruption in communication on the  [= Check the communication bus
CAMaopen bus = Check the time-out
» Refer o the CAMopen user's manual
EFF | |[External fl:-LI/Si] [- Faulttriggersd by an external device, |- Check the device, which caused the fault, and reset
depending on user
EPE 2 |[Externa = Fault triggered by a communication |~ Check for the cause of the fault and resat
fault com.] netwaork
FCF2 |[Out = The output contacicr remains open = Check the contactor and its wiring
- onditio » chk C i i
contact open.] although the closing conditions have Check the feedback circuit
been met
LCF [input contactor] = The drive is not furned on even though | Check the contactor and its wiring
[Mains V. time out ] (LCL) has elapsed |- Check the time-out
» Check the line/contactor/drive connection
LFFZ2 |[A124-20mA loss] |- Lossofthe 4-20 mA reference on = Check the connaction on the analog inputs
L FF 3 |[&134-20mA loss] analog input Al2Z, AI3 or Al4
LFFMY [[Al44-20mA loss]
g&E [Owverbraking] = Braking too sudden or driving load = |ncrease the deceleration time
= |Install a3 braking resistor if necessary
= Activate the [Dec ramp adapt.] (bra) function, page 127,
f it is compatible with the application
OHF |[Drive overheat] = Drive temperature too high = Check the motor load, the drive vendilation and the ambient
temperature. Wait for the drive to cool down before restarting
gL F [Moter overload] = Triggered by excessive motor current |+ Check the setting of the moter thermal protection, check the
) moter load. Wait for the drive te cool down before restaring
OPF ! |[1output = Loss of one phase at drive output = Check the connactions from the drive to the motor
ohase loss]

a4/47




S Diamatic

The choice of professionals

Fault Hame Probable cause Remedy
OFF £ |[3output phase loss] | = Motor not connected or maotor » Check the connections from the drive to the motor
power too low = If an output contactor is being used, parameterize
» Qutput cont@cior open [Duiput Phase Loss] (OFL) = [Duput cut] (DAC), page 201
+ Instantansous instability = Teston a low power motor or without a meotor: In factory
in the motor current settings mode, motor phase loss detection is active
[Duiput Phase Loss) (OFPL) =[Yes] (YEEZ). Tacheck the drive
n a &5t or maintenance envircnment, without having to use
a motor with the same rating as the drive (in particular for
high power drives), deactivate motor phase loss detection
[Cutput Phase Loss] (2PL) = [Me] (nC
= Check and optimize the following parameters: [IR
compensation] (UFr), page Z0, [Rated motor wolt.] (LUnSE
and [Rated maot. current] (nCr), page S5, and perform
[Auto tuning] (tUn), page 25
OsF Mains overvoliage] |- Mains voltage oo high = Check the mains voltage
» Disturbed mains supply
OEF i |[PTC1 averheat] = Overheating of the PTCA probas [« Check the metor load and motor size
detected = Check the motor ventilation
Ot F 2 |[PTCZ averheat] - Owverheating of the PTC2 probes |7 Wait for the maotor to cool before restarting
. datected = Check the iype and state of the FTC probes
OEFL |[LIE=PTC overheat] |- Owverheating of FTC probes
) ) detected on input L18
FEF I |[PTC1 probe] = PTC1 probes open or short- » Check the PTC probes and the wiring between them and the
circuited maotoridrive
FEFZ |[PTC2 probe] = PTC2 probes open or short-
circuited
PEFL |[LIB=PTC probe] = PTC probes oninput LIS open or
i ) short-circuited
SCF4 |[IGBT short circuit] | Power component fault = Perform a diagnostic test via the [1.10 DIAGNOSTICE] menu
: = Inspectirepair the drive
5CF S |iMoter short circuit) |» Sheort-circuit at drive output = Check the cables connecting the drive to the motor, and the
) ) mator's insulation
= Perform diagnestic tests via the [1.10 DIAGMOSTICS] menu
= Inspectirepair the drive
5LF | |[Modbus com.] = Interruption in communication en  |= Check the communication bus
the Modbus bus = Zheck the time-out
= Refer ta the Modbus user's manua
5L F 2 | IPowerSuite com.] = Fault communicating with = Check the PowsrZuite connacting cable
) ) PowerSuite » Zheck the time-gut
SLF 3 [[HMI com.] » Fault communicating with the » Check the terminal connection
graphic display terminal » Check the time-out
5~ F [Terque time-out] = The time-gut of the torque contral |+ Chack the function's settings
function is attained » Check the state of the mechanism
ESE [Torguelcurrent im] | Switch to torque limitation = Chack if thare are any mechanical problems
: = Chack the parameters of [TORQUE LIMITATION]
(tLA-) page 177 and the parameters of fauk
[TORQUE OR | LIM. DETECT ] (tid-), page 270}
L JE NSET owerheat] = Drive cwerheated = Chack the size of the load/motor/drive
: ) » Reducs the switching frequency
= Wait for the moter 1o cool before restarting

45/47




S Diamatic

The choice of professionals

Fault Mame Probable cause Remedy
CFF [Incarrect config.] » Cption card changed or removed » Check that there are no card emors
= In the event of the cption card being changediremoved
delizerately, ses the remarks below
= Control card replaced by a control = Check that there are no card ermors
card configurad on a drive with a = In the event of the control card being changed delibarately,
different rating see the remarks below
= The current configuration is = Return to factory settings or retrieve the backup
inconsistant configuration, if it is valid (see page 222
CF I [Irvalid config.] = Invalid configuration = Check the configuration loaded previously
: The configuration loaded in the drive |- Load a compatible configuration
via the bus or communication network
is inconsistent
HC F |[Cards pairing] = The [CARDS PAIRIMNG] (PPI-) = In the event of a card ermor, reinsert the original card
function, page 210, has been = Confirm the configuration by entering the [Pairing password]
canfigured and a drive card has (FFEL) if the card was changed deliberately
been changed
PHF [Input phase lass] |+ Drive incorrectly supplied or a fuse » Check the power connection and the fuses
) ) blown
= [Failure of one phase
= 3-phase ATWT1 usaed on a singls- = Use a 3-phase mains supply
phase line supply
= Unbalanced load = Disable the fault by [Input phase loss] (IFL) = Me] (nC)
This protection only operates with the (page 202)
drive an load
USE [Undervoltage] = Line supply too low = Check the voltage and the parameters of
) ) = Transient voliage dip [UNMDERVOLTAGE MGT] (USk-), page 202
= Damaged pre-charge resistor » Replace the pre-charge resistor
= Inspect/repair the drive

46/47




S Diamatic

The choice of professionals

47/47



